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3. Solve each of the following systems of equations by substitution.

=3x+13 -
a) y =3x+ b) X+y=9
2X =y -9 2X+y =11

4. Solve each of the: following systems of equations by elimination.

a) X+y=5 b) 2X+7y =33
X-y =7 IX+y=3
X Y
ot =1
o FK-2y=4 0 23
3X+y=9 w|mR|L
4 3

5. Define your variibles, create a linear system to model the following situation, then
solve using the method of your choice:

Alex invested $1500, part at an annual interest rate of 2.5% and the rest at an
annual interest 1ate of 3.5%. After one year, the amount invested at 3.5% had
earned $40 mor 2 interest than the amount invested at 2.5%. How much money did
Alex invest at ez ch rate?



